¢ 7-2: Multiplying and Dividing it and §5 are real #s, then Simplify each. Assume that all variables are positive.

Radical Expressions.
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The reverse is also true: W

Jab = a - b i

When » is even both « and » must be positive y
= 2 A W

2. 5 - [T o T [T
52, /5 2
b:E G->

5> MmN —
W'/gj//bu}

- u{\-\'& 10
S :635})\@




4.

6.

J7a + YTa
03 hay*

), Y
0" (_
= (’? 695/6 &= (W

Y18mn3 « Y45m°n'3
75

(AR Lk
4 /
\/;y‘/b mlgi’)!o
ki.
=\2nn Yion

5.

@

3 9Q4R2 - 3 6Q5R8
fo -
B*%7 o2

Ve r”

58 6d13 . 12 7d3
J c J/\\C

Z'L'L Z'L’5

i ZCZCL%\S/BCSA
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Simplify each. Assume that all variables are positive.
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Dividing radical expressions:
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The reverse is also true:

n % - Y% it 4 and b are positive
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Simplify each. Assume that all variables are positive.
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Simplify each. Assume that all variables are positive. L
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